
MATHS

BOOKS - PATHFINDER MATHS (BENGALI ENGLISH)

MULTIPLE AND SUB-MULTIPLE ANGLES

Question Bank

1. Prove that .

Watch Video Solution

= tan( − θ)
cos 2θ

1 + sin 2θ

π

4

2. Prove that .

Watch Video Solution

= tan
1 + sin θ − cos θ

1 + sin θ + cos θ

θ

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HBYemNW6dPQ9
https://dl.doubtnut.com/l/_W6wyNayrJDGF


3. Prove that 

Watch Video Solution

√2 + √2 + 2 cos 4θ = 2 cos θ

4. Find the value of 

Watch Video Solution

cos2 48∘ − sin2 12∘

5. Find the value of .

Watch Video Solution

sin2 24∘ − sin2 6∘

6. Find the value of 

Watch Video Solution

cos22 ∘
1

2

7. Prove that 8cos3 − 6cos = 1
π

9

π

9

https://dl.doubtnut.com/l/_ucjKV543VARy
https://dl.doubtnut.com/l/_iaHozqpS7TM3
https://dl.doubtnut.com/l/_4VH4lHI3qK37
https://dl.doubtnut.com/l/_z1877znlxnzH
https://dl.doubtnut.com/l/_gBeTRok1i9BZ


Watch Video Solution

8. Prove that 

Watch Video Solution

=
sec 8θ − 1

sec 4θ − 1

tan 8θ

tan 2θ

9. prove that 

Watch Video Solution

sin4 + sin4 + sin4 + sin4 =
π

8

3π

8

5π

8
7π

8

3

2

10. Prove that

Watch Video Solution

cos2
α + cos2(120∘ − α) + cos2(120∘ + α) =

3

2

11. Prove that 

Watch Video Solution

cos ⋅ cos ⋅ cos cos =
2π

15
4π

15

8π

15
14π

15

1

16

https://dl.doubtnut.com/l/_gBeTRok1i9BZ
https://dl.doubtnut.com/l/_6KoKHmEy3BYw
https://dl.doubtnut.com/l/_AX3nzzMIfqOC
https://dl.doubtnut.com/l/_JFAPNZ2xsUsC
https://dl.doubtnut.com/l/_OWBvVrymdHAw


12. Prove that 

Watch Video Solution

cos3
A + cos3(120∘ + A) + cos3(240∘ + A) = cos 3A

3

4

13. Prove that 

Watch Video Solution

tan A + tan(60∘ + A) − tan(60∘ − A) = 3 tan 3A

14. Show that 

Watch Video Solution

cot 7( ) = 2 + √2 + √3 + √6
1∘

2

15. Prove that

Watch Video Solution

tan A ⋅ tan(A + 60∘ ) + tan A ⋅ tan(A − 60∘ ) + tan(A + 60∘ )tan(A − 60

https://dl.doubtnut.com/l/_Q1wPrRkeW1KZ
https://dl.doubtnut.com/l/_0mjnQcsUjDvR
https://dl.doubtnut.com/l/_w6is6BZweWrW
https://dl.doubtnut.com/l/_jN5yTeTDb9CO


16. Prove that  for all values of .

Watch Video Solution

|sin θ sin(60∘ − θ)sin(60∘ + θ)| ≤
1

4
θ

17. Prove that if  and  then cos2A=sin4B

Watch Video Solution

tan A =
1

7
tan B =

1

3

18. Prove that 

Watch Video Solution

tan 6∘ tan 42∘ tan 66∘ tan 78∘ = 1

19. Prove that

.

Watch Video Solution

(1 + cos )(1 + cos )(1 + cos )(1 + cos ) =
π

10

3π

10
7π

10

9π

10

1

16

https://dl.doubtnut.com/l/_mV471ymimTeE
https://dl.doubtnut.com/l/_jHeJKhGdFcH1
https://dl.doubtnut.com/l/_W6LNwFa1K4rE
https://dl.doubtnut.com/l/_P4NsKUEp4qvt


20. If  x lies is the 2nd quadrand then find the value of

, and .

Watch Video Solution

sin x =
√5

3

cos , sin
x

2
x

2
tan

x

2

21. Prove that 

Watch Video Solution

sin sin sin sin =
π

5

2π

5

3π

5
4π

5

5

16

https://dl.doubtnut.com/l/_FTndNxj5sKDs
https://dl.doubtnut.com/l/_MoOk2a2A0CYi

